Vertical Control Mirror Mount W4161

Stainless steel mirror holder with angle adjustment of optical elements from the top surface,
allowing installation in limited space. The side-cut shape and adjustability from the top surface
allow for close placement.

® MHV-L-F allows mirror mount from the front of the
mirror frame. MHV-L-R allows mirror mount from the
back of the mirror mount.

® High-resolution adjustment screws (P=0.25mm) are
used for precise adjustment.

® Can be fixed to the plate from above with screws, or
from below via post and rod.

® Holes for mirror bonding, prevention of rotation
during installation, and pin holes for positioning are

provided.
f Guide fl Attention
»Use a 1.5mm Allen wrench for adjusting the tilt and rotation. »Hexagonal wrench is not included.
Bare hands cannot turn the tilt/rotating screw. »MHV-L cannot be attached to M6 rods (RO). When attaching a rod,
P Post stands (PST) and spacers can be secured with M4 or use an M4 rod (ROC) or 8-32UNC rod (RO-UU).

8-32UNC screws can be used to secure them.

Cyclic Thermal Strain Response Characteristics

MHV-12.7L Series

3-Cycle Thermal Deflectiom Test Graph

100 Chamber Temperature 60
8
80 40 —
g
2
60 Product Temperature 20 g

o

—_— Pitch Deflection £

k-] (]

g40 i v

= A

—_ Yaw Deflection

-

g 20

£

o

o

L)

< 0 £ e Y

2

20
0 1 2

3 4 MHV-25.4L Series
Time [h] 3-Cycle Thermal Deflection Test Graph
A00 Chamber Temperature 6
L
80 40 E‘
2
o
60 Product Temperature 20 g
— Pitch Deflection E
T =
©
£ 40 0
= Yaw Deflection
g L !
E oo | T L L |
W
©
& |
a8 o]
-20
0 1 2 3 4 5

Time[h]

HOURS

I ——
www.hours-web.com

V_E2301



2D|(3D

CAD||CAD
line Drawing (in : mm)
MHV-12.7L-F MHV-12.7L-R
H SUS Hexagon head cap bolt M4x10...2 bolts E SUS Hexagon head cap bolt M4x10...2 bolts
SUS Hexagon head cap bolt 8-32UNCx3/8...2 bolts SUS Hexagon head cap bolt 8-32UNCx3/8...2 bolts
22 22
2-1.5 215
Tilt axis fine adjustment ] Rotation axis fine adjustment Tilt axis fine adjustment + Rotation axis fine adjustment
Tilt axis clamp 2_{5\'10“1“0" axis clamp Tilt axis clamp ._Rotation axis clamp
Element holding plate spring = 3-Bpnding hole =
12.5 \ .29 _ 4 3-Bonding holes 125 29 d Element holding plate spring
\ =1 =i n\ n o =} n |
8 [l P14 \ g I 14
© uf SN ) Al ~ o
4 ﬂv"T Ll | g -
L4 e )
= .| © = ML @ © o i 2
2t |t @ M4x0.7 depth 2.7 Applicable mirror diameter $12.7/ o ® s Applicable mirror diameter ¢12.7 /
5l A\ f Effective diameter ¢11.4 il i n Effective diameter ¢11.4
¢2depth 1.5\ = \ o
wlN\ ) a $2depth1.5 \ 45 =
i \ 1 @ \ =1
b = QNN 1 8
o ~
) ;! wo O® AR = e —
©|ot w0 12> af 5 Hwebe=, @
b | w 45 b
D O - 7 "
o) 1o ‘ =Eellen
< 0 [10
= 12.7 3 / 127
8-32 UNC depth 6 8-32 UNG depth 6 el
MHV-25.4L-F MHV-25.4L-R
ﬂ SUS Hexagonal socket head cap screw M4x10....3 screw (7] SUS Hexagonal socket head cap screw M4x10...3 screw
SUS Hexagonal socket head cap screw 8-32UNGx3/8...3 screw SUS Hexagonal socket head cap screw 8-32UNCx3/8...3 screw
32 e 32
2-2 2-2
Tilt axis fine adjustment Rotation axis fine adjustment Tilt axis fine adjt «[ Rotation axis fine adjustment
3 e ¥a
3 v

Tilt axis clamp Clamp screw for rotation

Optic Clsmp. ; 3-Adhesive Access Hole E X
e 1,5,.‘ \ «|  3-Adhesive Access Hole 16 \ ﬁ Spto Gl
\ ol \ o
A - |
B O t
c "\ o
s | ) g g 3 8
T @ < ~
= "o | 4 ' ] 8
Iy ~ ’ wl | = 1
25 40 Accepts Mirror Diameter ¢25.4/’ I_ 26 | 40 Accepts Mirror Diameter ¢25.4f
Clear aperture ¢23 e ~  Clear aperture ¢23
4.5 mounting notch depth 6 M4x0.7 depth 5
ezdeths — % 2 depth 3 By e
7 ] \ =l /@ 5
Vo 35 N LS -]
| ~ i T
1 e [
1 0l T | |
8=
[ON LGP
a [ 5 : a
Z 25 $4.5 mounting notch z 8-32 UNC depth 5.5
254 | 945 through hole 4.5 through hole

s Primary material : Stainless
Specifications Finish : None

MHV-12.7L-F $12.7 2~7 ¢11.4 2 Front +2 +2 About 0.7 | About 0.65 | 0.064

MHV-12.7L-R $12.7 2~7 ¢11.4 2 Back +2 +2 About 0.7 | About 0.65 | 0.064

MHV-25.4L-F ¢2?i?nm 3~7 ®23 2 Front +15 +15 | About0.37 | About0.38 | 0.16
- - ¢25 ~

MHV-25.4L-R 028 4o 3~7 923 2 Back +15 +15 | About 0.37 | About 0.38 | 0.16

HOURS

www.hours-web.com


https://pan.baidu.com/s/1tAp9_F4VqGgMZv1ca57iTQ?pwd=8888

	スライド番号 1
	スライド番号 2

